tube-to-tube couplings

0104 equal tee

prass oD i F H1 J % 5ead
4 0104 04 00 10 95 8 19 0,029
5 0104 05 00 12 11 8 21 0,035
6 0104 06 00 13 11 8 22 0,040
L L 8 0104 08 00 14 15 10 28 0,055
2 2 _ 10 0104 1000 19 145 12 30 0103
12 0104 1200 22 15 15 30 0,139
H=AEFH—3 14 0104 14 00 24 18 19 3 0,188
' - Hi 115 0104 15 00 24 18 19 35 0,168
40 16 0104 16 00 27 21 19 39 0,236
oF {4 @D 18 0104 1800 30 215 23 41 0,322
20 0104 2000 32 215 23 42 0,324
22 0104 2200 36 29 27 50 0,518
25 0104 25 00 41 29 27 54 0,646
28 0104 28 00 42 30 32 55 0,650
0142 equal Y piece

prass oD ?‘ P Mo 1 s
4 01420400 10 165 7 265 17 42 0032
a0° 5 014205 00 12 185 85 27 17 42 0046
OF 6 014206 00 13 195 85 28 17 42 0,050
o1 8 01420800 14 21 8 30 17 62 0062
N\ 10 01421000 19 245 9 375 22 62 0,130
¥ 12 01421200 22 26 11 38 23 62 017
] : 14 01421400 24 28 11 415 245 62 0,199
HFE = % 15 01421500 24 28 11 415 245 62 0177
i 16 0142 16 00 27 30 12 43 25 6.2 0,257
- 20 18 0142 1800 30 315 12 505 31 102 0,350
20 0142 2000 32 335 13 515 31 102 0410
22 01422200 36 34 13 53 32 102 0543
25 01422500 41 39 14 59 34 102 0728
prass oD ?‘ F H1 J % 5o
4 0107 04 00 10 95 8 19 0,037
L L 5 0107 05 00 12 11 8 21 0,048
v 2 2 6 0107 06 00 13 11 8 22 0,063
: 8 0107 08 00 14 15 11 28 0,074
il |-CF 10 0107 1000 19 145 14 30 0143
== 12 0107 1200 22 15 15 30 0,185
= —1 14 0107 14 00 24 18 20 35 0,241
=== === [[18 0107 15 00 24 18 20 35 0,223
o 'T = 16 0107 16 00 27 21 20 39 0,311
: 18 0107 1800 30 215 25 41 0,431

@D
Ld 20 0107 20 00 32 215 25 42 0442
22 0107 22 00 36 29 27 50 0,682
25 0107 25 00 41 29 27 54 0,811
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